REV-01 2022/07
MCA/36/41
MASTER OF COMPUTER APPLICATION
FOURTH SEMESTER
INTERNET OF THINGS
MCA-403.3

( Use Separate Answer Scripts for Objective & Descriptive )

Duration : 3 hrs. Full Marks : 70
[ !)! Bl-ﬁ . S!!!iggg‘!.g ]

Time : 20 min. Marks : 20

Choose the correct answer from the following: 1X20=20

I. 1oT stands for

a. Introduction of Things b. Internet of Things

<. Internet of Tracking d. Interaction of Things
2. The term "Internet of Things" was coined by?

a. Kevin Ashton b. Guido van Rossum

c. IBM d. Ross IThaka

3. Which of the following process has to support the definition of application topologies in
various formats?
a. Top-down and bottom-up b. Management and Configuration
¢. Enrichment of Topology specification d. Support of different Migration types

4. Which of the following is true about [oT?
a. The term Things in the Internet of Things refers to anything and everything in day to
day life
b. IoT has greater transparency, control, and performance
c. Both A and B.

d. None of the above
9 The major disadvantage of IoT is
a. Improved Customer Engagement b. Reduced Waste
c. Enhanced Data Collection d. Security
6 IoT devices can easily lead to catastrophe without
a. Software b. Devices
c. Cloud d. Management system
7. The IPV6 has a notation for addressing
a. Dotted decimals b. Hexadecimal
c. Bothaand b d. None of the above
8. are the types of actuators
a. Hydraulic, pneumatic actuators b. Electrical, thermal actuators
¢. Mechanical actuators d. All of the above
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